WELLAND GOULDSMITH SCHOOL
CLASS: 1l

SUBJECT: MATHEMATICS
CHAPTER: FRACTION ANSWERKEY

A) Colour the bubble next to the correct answer.

1) 1
4
2) 1
2
3) 2
3

B) Pick the correct fraction.

1) 5 6)_1
6 2
2) 1 7) 3

3) 3

6
3
8
4) 1 9) 4
4
4
6



C) SOLVE

i) of30=30+2=15

xi) 1 0f12=12+4=3
4

ii) of 10=10+2=5

xii) 1 of 40=40+4 =10
4

ii)

Xiii) 1 of24=24+4=6
4

1
2
1
2
10f12=12+2=6
2
1
2
1

iv) 1 0f22=22+2=11 |xiv) 1 of36=36+4=9
4

V) of 36 =36+2=18 |xv) 1 of52=52+4=13
2 4

vi) 1 of15=15+3=5 xvi) 1 of32=32+4=8
3 4

vi) 1 of 30=30+3=10 |xvii) 1 of44=44+4=11
3 4

viii) 1 of 69 =69 +3 =23 |xviii) 1 of 8=8+4=2

3 4

ix) 1 of24=24+-3=8 |xix) 1 of80=80+4=20
3 4

Xx) 1 of18=18+3=6
3

xXx) 1 ofd=4+4=1
4




